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Question Nos. 1 to 8 are Multiple choice type which corry 1 mark each.
U JWT 1 A 8 ddb dgamedld Ued & TSiAcl U |1

AT 1 3ib B
Question Nos. 9 to 15 are very short Answer type which corry 1 mark each.

Ues JAWAT 9 A 15 dkb 3fa oig AT Uee & ek U@

BT HATST 1 37ch &

Question Nos. 16 to 23 are very short Answer type — I which corry 2 marks

each.

Ues JWT 16 A 23 ddb oy Iaag- | ued & Semr ugs

PBT AT 2 37h 2

Question Nos. 24 to 31 are short Answer type — II which corry 3 marks each.

Uoe WIT 24 A 31 db oy Iadu- 1l ues & et ugEw

PHT HATST 3 3ich & |

Question Nos. 32 to 34 are long short Answer type which corry 5 marks each.

gosT AT 32 A 34 db " I ued & [Slerasr usisw
HATeT 5 37k & |

(Multiple Choice Type Questions)

(@giapedtr ueeT)

H,O (ice) is an example of
(a) Polar molecular Solid
(b) Hydrogen bonded molecular solid
(c) Ionic Solid
(d) None of these.
H,0 @®) T 3ITTEI0T &
(a) gty 3nfvass ar=F b1
(b) BTSgISTer 3Tdierg 3Nfvads A T

(c) 3maferss T BT (d) zerdt X g A&t
Rate = K [NH,; NO,] is an example of
(a) Zero order reaction (b) First order reaction
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(¢) Second order reaction (d) None of these.

Jor= K [NH,; NO,]| Uep 3eT8vr &
(a) gre wmife st @1 (b) werer wite 31farfesar 1
(c) T =pife afdrfsar &1 (d) sad A BIs &8l

Al’thd AlCl3 C2H5
@ +C2 H5Cl > @ Hcl
The reaction is

(a) Finkelstein reaction (b) Friedel Craft’s reaction
(c) Fittig reaction (d) None of these.
3rTe Alcl; |C2H5
@ +C2 H5Cl > @ + Hcl
arfarferar &)

 (a) Rpeborzersesr 3if3fsar (b) wiger wrae stfaricsan

(c) ftpctor  3rfarfesaT (d) s 3 Pdg Taf
Bauxite is an ore of
(a) Fe (b) Al
(c) Zn (d) Cu
dTFATSe 3RI<h &
(a) Feapr (b) Al @Bt
(c) Zn=p1 (d) Cuasr
Chlorobenzene + H,0 700 K
—— % A
(Steam)
‘A’ s
(a) Benzene (b) Phenol
(¢) Benzyl alcohol (d) None of these
FART deoitel + H,O 700 K
_ T LA
(a9Ta)
‘AT
(a) deoiter (b) wtaATet
(c) SeoiTsel Uohlgd (d) getet A BIg =Tt
Acetaldehyde + 4[H] Zn-Hg/Hcl
‘A’ is ”
(a) Methane (b) Ethane
(c) Propane (d) None of these
wielesarss  +4 [H] Zn-Hg/Hel

‘A8 4 ,7 é
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(a) FAS (b) Garer

(c) Urder (d) setd ¥ B =T&l
Which enzyme helps in coverting maltose into glucose ?
(a) Urease (b) Maltase
(c) Lactase (d) None of these
HACSA DBl ogbIA H uRaidd &el H Pl AT UsellsHA FHea
HIAT B ?
(a) IRUS (b) HATeSST
(c) SRt (d) et A HIE Tt
CH; COONa  NaOH and Cao _
e > o Produet
the product is
(a) C, He (b) CHy
(c) CH;COOH (d) None of these
CH; COONa  NaOH @it Cao_
oTH *
IdE 8
(a) C, He (b) CH,4
(c) CH;COOH (d)sad X PIs <TEr

(Very Short Answer Type Questions)
(1fer org 3T Ued)

Calculate the overall order of a reaction which has rate expression

Rate=K [A]*? [B]™

aifarfeear a5t @er wife @ orureT SHIfSTT AT dor @isis @
Jor=K [A]? [B]"

Rickets occurs due to deficiency of which vitamin?

fpar feerfder &t et A Rbex 8ar 22

Write dispersed phase and dispersion medium of milk, a colloidal solution.
T, UF didise [dorsiel ol uRféTda urawenm dem uiRgigor &t
o= |

Write the monomer used for getting the polymer, Polystyrene.

g, UlciTeIsclsl @l Ul el & (U UPdd Tl TAgU |

Write [UPAC Name of CH; CH (CH;3;) CH(Br) CH;

CH;3 CH (CH3) CH (Br) CH; @1 3msogodtorwozfto = for=sd |
Give an example of aldotetrose.

UcsSIegA Pl TP 318297 & |

Give an example of tranquilizer.

UeTicdas @b TSP 3I&TEI0T & |
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(Short Answer I Type Questions)
(cg 3T 1uee)

Distingiush between Oxidation Potential and reduction Potential.
3TRNBor feta derm ruawer st & st w3

What is role of Cryolite in the metallurgy of aluminium?
UAfACRIA & aIgda H HrAlcise @l aar sfHdT & ?
Give the disproportionation reaction of H3POs .

H;PO; @6t 3raaATeIuTdst 3ifaifeser fse |

Write docon the electronic Configuration of (a) Mn** and (b) Cr**
(a) Mn*" and (b) Cr’* & sorergieres Reums faRaw |
Complete the following :

(a) CH;3;Br + KCN (alc) ———
(b) C2H5BI' + AgN02 e

Rreeniaiea & @1 & -

(a) CH;Br + KCN (alc) ——»
(b) C2H5Br + AgN02 e

What are the expected Products of hydrolysis of Lactose?
JTEA B ST U"ee A Thel IcUIGT B delel @Y 3TUETT 3
2?
How Can You distinguish between addition and Condensation Polymerisatic
JAbeTel 3R HAGelel TgAIdhel & HeT 3HT HA TBR R
FHoor ?

What is tincture of lodine? What is its use?

S b7 e R=IT 8lar 8 ? SHAP =T IuAeT & ?

(Short Answer II Type Questions)
g I 1 uee)

Distinguish between Schottky defect and Frenkel defect.
Sled! eIy gerl habel aly H Taade @62 |
Explain order of reaction.

3farfepar St pife @1 gutor &3 |

Explain the following terms :

(a) Dialysis (b) Tyndal effect ‘

foraeT usl &I JHAIATSE:
OELCIES] (b) Cesa1 wetTa

How will you bring about the following transformations ?
(a) Ethanol to Ethanal

o

—

1+1=2

| +1=2

1+1=2

2+12 =3

(%)

212 =3

bl [t



(b) Acetic acid to Acetyl Chloride

(c) Benzene to Toluene
fereentaRaa uRadsr 3mg HA T ?

(a) TASTA F wAeSA

(b) u3étes 3131 J THerse aeREs

() esiter A elerge

28 Using IUPAL norms write the formulas for the following :
(a) diammine dichlorido platinum (II)
(b) Penta ammine nitrito-o-cobalt (III)
(c) Potassium tetra cyano nickelate (II)

IUPAL ferorat & 3mer ur freenfaiRaa @ v gz faRae:
(a) sTERFIST srsaalzsr witeaa (1)
(b) Ueer UeHla arsfger —o- e (1)
(c) uefdrrar 2gr ArE ferboie (1)
29 What is Kohlrauschis law ?
PI3eT Bl forraT = B2
30 Predict the Product :

OH
(a) @ +3 Br, -

Cl

Anhydrous Fecls
(b) @ +Cl £
H,O
(¢) (C¢Hs5CO),0 -
3dla ddigt :
OH
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(c) (CsH5CO)0

A\ 4

7 (&

1+1+1=3

I+1+1=3
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Complete the following reactions :
(a) XeF, + NaF R
(b) XeFs + H,O R
(C) Py + NaOH + H,O ————

reataRaa aifafssmatt @ ggr &2 -
(a) XeFg o NaF TR
(b) XeFs i H,O i
(¢)P4, + NaOH+ H,O e

(Long Answer Type Questions)
@ef 3T )
A Sample of drinking water was found to be severely Contaminated yith
Chloroform (CHcls) Supposed to be a Carcinogen. The level of Contamination
was 15 ppm (by mass) :

(i) express this in percent by mass

(1) determine the molality of chloroform in the water Sample.
Uk U STt BT otHelT aariwra (CHely) A, BAcied JAAI $Ter
B FAAT dp aga fTE Ag™a B sHAA Aguur Bt AT |15
ppm (E&THTOT H) & —

(i) s geraToT ufderd & = BT |

(i) ST & &t A TERIBIA & AlTardl ST BITSTT |

OR 7 3terar

The following results have been obtained during the kinetic Studies of] the
reaction :

A+ B ~——» LD

Experiment [AJ/mol L | [B)/mol L™ | Initial rate of formation ¢f
D/ mol L™ min™*

I 0.1 0.1 6.0x 10~

I 0.3 0.2 72x 107

111 0.3 0.4 2.88x 107

vV 0.4 0.1 240x 107

Determine the ratelaw and rate Constant for the reaction
2A+B — C + D aztfafehar &5 acrorfaast  31e2erel abadd | U
fereatieiRaa gRomer ura gu |

T=TreT [A/molL" [ [B)/molL" |D & === @
uT3f37es o1/ mol L™ min

I 0.1 0.1 6.0x 107

I 0.3 0.2 72x 107

111 0.3 0.4 2.88x 107

vV 0.4 0.1 2.40x 107

I+1+1=3

2+3=5
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sfarfeear @ fE dor forgar germ dor Reries sita Hifse |
Give the Principle involved in monufacture of nitric acid by Ostwald proc
How does Concentrated HNOj; reacts with

(i) C and (i) I, ?
3Necares fafer A aefees 31 @ Iaea F fofea Riga
st | Ateg HNO; (i) C der (i) I, ¥ e s amfdfce=m 4
g7

OR / 3tar

How does white Phosphorus reacts with (i) H,SO, (ii) Sulphur (iii)
(iv) Naand (v) HNO;
2dad WIFHRA A wwmre (i) HoSO, (i) Jewe  (iii) Mg (iv) Na i
(v) HNO;
Write short notes on the following :

(a) Aldol Condensation

(b) Wurtz reaction

(c) Stephen reaction
oreafaiRaa o Jfera fewoft o= -

(a) Uestel  Hdeled

(bygest  stfateaT

(c) T Pat  3TTaIfesAT

OR 31erar
Identify ‘X, ‘Y’ and ‘Z’ in the following :
(a) CHj Cl; (boil) . KOH (aq)
—_.______’ GY’
(b) @ CH;Cl | . Cl,/Heat

Anhyd. AICI;

(C%DOH SOCl, . 7

5 8

1H1+1+1

+1=5

1V2+1"2
E2=5

2A+2+175




forgettaRad & ¥ ‘X°, ‘Y dar ‘Z’ &l usgdre

(a) CH; Cly(boil) 5 KOH (aq) i
(b) @ © 56 I Clyforaf
CERHER I

Anhyd. AICI;

(c)é)OH SOCl, . 7

‘Y’




